CITY OF NEW BEDFORD

APPLICATION FOR LAYING DRAIN

Application Nº 19135	Board of Health Permit No.
	New Bedford, Mass.,
To the Mayor and City Council: I hereby request that a drain be laid from	the premises of Cellal Realty
e a Louvell. It 25'	n of Tarkeln Hell Rd.
	6
	Parish
to connect with the sewer in the same to be laid in the street and the surface Works.	ace repaired as directed by the Commissioner of Public
I hereby agree to pay at the office of the the manner specified, in excess of the deposit the work.	City Treasurer all cost of performing the above work in made herewith, within 10 days after the completion of
be returned to me by the City Treasurer.	osit made with this application shall be applied to the done, and that any excess of deposit over the cost shall
Witness & Bryant a	Dubal Really
	Property owner
	Il Brock Cerense
By	Conud Ilforn
Requires separate entrance	28 Bleasand of
for roof water	Address
Consent of Ov	vner of Private Drain
To the Mayor and City Council:	New Bedford, Mass.,
I hereby grant to	
the privilege of draining premises	
through the private drain owned by me connect	cting with sewer in
	street.
	Owner
F 15 15	D 11 D 1
	Deposit Requirement
Office of Con	nmissioner of Public Works,
My estimate of the cost of laying the drain	described in the above application is
Assessed 15.00 Entrance charges	Total deposit required 167-00
	Anderson es
	Commissioner of Public Works
Certifi	icate of Issue
	Office of City Clerk,
The above application accompanied by (City Treasurer's receipt presented this day; whereupon
	d, and the Commissioner of Public Works notified of the
same.	Carl the Commissioner of Tubic Works nothed of the
	Cler M Taufan RoCity Clerk
Laid from main in atreat to incur nine is	RBCity Clerk
Laid from main in street to iron pipe in property. Owner agrees to supply all necessary	,
Leansite pipe.	



NOTICE TO COMMISSIONER OF PUBLIC WORKS
Length of drain 38. Sewer depth 6/2. Pilled 70 70 2 pipe system
Surf. drain 5
Drain Permit Nº 19135 City of New Bedford,
Office of City Clerk, May 1, 1910
To Commissioner of Public Works.
Permission has this day been issued to
Cubal Resety 891 Brock Ave.
Property owner Address
By Leonard Alfonso 628 Eleasant It
Address
to lay drain from the premises of Cubal Klasty
es lowell It 25'x of Jarkeln Hell Rd
to connect with the sewer in Lowell street.
Laid from main in street to iron pipe in property. Owner agrees to supply all necessary Clex M. Janualan P.B.
Transite pipe. City Clerk.

Requires separate entrance for sewage and roof water

RETURN OF FOREMAN

Entered MAY-26 TH	19 7
Fime & 27th	1
By John ly Jou COST J. TAV	JAFS)
Labor hours @	
Pavares, J 6 " 3.00	\$18.0
Ambra, J 6 " 2.85	17.1
Alfonso, J. = 6 " 2.90	17.4
Botelho, E 6 " 2.90	17.4
St. Pierre, N 6 2.75	16.2
Macedo, J 6 3.15	18.9
"	\$105.0
	8
Charles of the contract of the	
O CHANGE COLLARS	
PLACE-10FTX2/2FF012-ON-ROAD	13.9
011 +31	13.6
Trucking	
Trucking WANTO-TRUCK SEPTE 35-BACKHOE @ 655	30
HAR 10-TRUCK	327
HARYOTRUCK SUPER 35-BACKHOF @ 655	327
Total Cost	327
Total Cost Estimate-cost of laying drain 1554 -	3 0 3 2 7
Total Cost Estimate-cost of laying drain 153 - Entrance charges 1500	3 2 7
Total Cost Estimate-cost of laying drain Entrance charges Total deposit Balance due City	37
Total Cost Estimate-cost of laying drain Entrance charges Total deposit 1500	3 5 3 2 7 155: 3 7 - 4-14 - 6-14
Total Cost Estimate-cost of laying drain Entrance charges Total deposit Balance due Ct Pieces pipe to curb	37
Total Cost Estimate-cost of laying drain 53 - Entrance charges 15 00 Total deposit 167 - Balance due Ct " " curb to house 167 - Cut at sewer Cut at curb 6/2 167 - Cut at curb 6/2 Cu	3 7
Total Cost Estimate-cost of laying drain 53 - Entrance charges 15 00 Total deposit 167 - Balance due Ut Pieces pipe to curb 10ff - 12ff " " curb to house 17 17 Cut at sewer 7 17 17 Entrance charges 15 00 Cut at sewer 7 17 17 Total Cost 150 150 Total Cost 150 150 Total Cost 150 150 Entrance charges 15 00 Total deposit 167 - 157 Total Cost 150 150 Total Cost 150 Total Cost 150 150 Total	3 7
Total Cost Estimate-cost of laying drain 53 - Entrance charges 15 00 Total deposit 167 - Balance due Ct " " curb to house 167 - Cut at sewer Cut at curb 6/2 167 - Cut at curb 6/2 Cu	3 7
Total Cost Estimate-cost of laying drain 53 - Entrance charges 15 00 Total deposit 167 - Balance due Ct " " curb to house 167 - Cut at sewer 167 - Cut at curb 167 - Size of pipe 6X4-IN TRANSITE	3 7
Total Cost Estimate-cost of laying drain 53 - Entrance charges 15 00 Total deposit 167 - Balance due Ut Pieces pipe to curb 10 ft 15 ft " " curb to house 15 ft Cut at sewer Cut at curb 15 ft Size of pipe 6 X + MY - TRANSITE Correct	3 7

OWN FR-50PPX150-81PE